o & Ago] ofd Ag 1EW?

o
Rl

O© 3 B} 2 d4o] me]
@ 100 ©]5ke] #A=0] me]
® ofgthe £ 24

@ 6 9] °F0] 2Y

® HroA 7|7} 7FE 2 A1E0] mol



2. AT A={r|ct 49 )9 REUFE] A4 E Totolel.



ot

©

=5 9]

A A={z]|=

3.



?

O
—

® 5

@ 4

® 3

@ 2

1



d

12 ol B Lol A9 WS A, Beel

o, n(A) - n(B) © 3k& Fahelat,

P

obg ke g
1Sk B a}_

&

EO[(
ftlo
Rl
ok



6. 2HO I3 10 Ho} 282 A0 Hots A & & o, o= O ol 5012
7157t e Q1 A& =zt

@ 2] |4 @ A| |4 ® 6 |4
@ A[ 10 ® {4, 6y [ |4



%]

Apere]

St=

235

@ EAES AL



T A A, B ol st

A= {z|ze 1025 &2 Ads], B= {z |z 9 °I5te] 5}
e 5 %o 227

@ 10eA @ 9¢A ® AcB

@ {3}cB ® A=1B

Qo]
=

o,



AF A= {z|zE82 ok} Ao, {1, 2} c BC A & W&ot A

o gt B R A

@® 4 @ s ® 16 7 @ 24 7 ® 32 7}



10. A={x|zE 169 %5}, B={1, 4, 16, a, b} A AF A, B o st
A=B YW, a+b 9] g7

® 10 @ 11 ® 12 @ 13 ® 14



u)
o
of

of

==

(]

Aol

Hd fehghe BF n=2w? (4

@ {z]z<1, 2= AT

@ {z|zE 52 g2 o) Y27t 39 2
@ {z|z<2 2z 25}

@ {z ]2t 49 ¥4 F 25

® {o| ok 2520} 2 259 W



A
H

ofd
o
H
-
Kl
il
.

2]
B

]
<k

the % 2Tl okl £

@ {z]z<1, 22 295}
@ h L olo
{r] 2 52 s o Gol27} 3 91 Ael

® {z|z <2 av 2%}

ru
&
10
=
F

® {z|ze258Th



Z]

13. o= 5 74

o
ok

o
A A2?

® {a,b} @ o
@ {z|lze 1291 A} @ {z]zexx0=0% FA5}

© {zfz= 129] oF}



14. A% A= {alok 3080} 2 39] w5} of djste] & AL Batek

O A& 7ol @ A=1{33, 36, 39}

® n(4)=5 @ {15, 30} c A



15.

FA={zlzE 249 ¥ A0, BCAS
129? (g 27H)

4 rLOl'

2

© B = {a|zt 89 o)
@ B = {z|z= 10 |¥He] B

® B = {z|z= 129] o5}

@ B = {afrt 30 T} 69 ui}
® B = {a|ri= 189 o)

wEehs B 7t obd A4S



16. % 3t A= {z|lz 49 &4}, B={1,2,3,a} ol hste] Ac B & o,
a o] & ool



17.

7]

0= 3 &4

tlo

BT 18 ALY

Mo

O {AAHIA, M), ek, A, ol&} = {z |2+
ARA &Y
© {1,2, 3,4} = {2 | 2 & AAFE 42 Y2 o, YA}
© {3}, dx, 78} 7} = {2 | 2 & A=A o5}
® (031 Apolel ¥4 = {3, 1}
@ {1,3,17,51 } = {z | 2= 519 &}

® {4, A7, 2 B} = (o | 2 & AR Eolof 2ol o]}

ONENGE) ® ©,6e,e ® 0,06
@ 0,0, © ©,86




18. HesZF &

ro

Ag = Zate) (A 27)

O A={z}ol¥n(d)=0

@ AcC Bo|1 Bc A°lH n(A) = n(B)
® n(A) <n(B)°H AcC B

@ n(A)=0°A A=o

® n(A)=0,n(B)#0°]H BC A o|tt.



19.

Al =t

A={w, z, vy, 2},

B = {x |z 30 P2 309] ]

C = {z|azh25° 5}o] A&
n(A) +n(B) +n(C) 9 =

Pt
} o] [LH
atelat,



20.

4

J ey

N ol

ESLIL
oy}

{a, b, ¢}, B={a, ¢, e} o tist] H3} A o] {
o] REMFL 5= o] N4E ot



